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QUESTION 1

When companies demonstrate a real commitment to the success of people, planet and profits what aspects of their
business will show improvements?

A. New customer acquisition
B. New market acquisition
C. Reduction of number of suppliers

Correct Answer: A

QUESTION 2

Using too much lighting is of course raising the energy bill unnecessarily. What is another important human reason for
not applying too much lighting?

A. It takes too long to switch them all on and off.
B. Too much lighting can irritate people on a physiological level.
C. Too much lighting generates more heat.

Correct Answer: B

QUESTION 3

Why is virtualization important for green IT?

A. Virtualization enables fewer physical servers leaving a smaller footprint and using less power.

B. Virtualization increases network speed and therefore decreases the required hours of processing.
C. Virtualization reduces costs and environmental waste from employees\\' travel.

Correct Answer: A

QUESTION 4

Your department has been asked to reduce the use of paper and ink. What is one of the easiest ways to do so?
A. Introduce the concept of the paperless office

B. Printing two-sided documents

C. Switch paper suppliers

Correct Answer: B



QUESTION 5

The paper manufacturer you buy paper from works with The Forest Stewardship Council. What does this mean?
A. The paper aligns with responsible forest use.

B. The paper is only made of new fiber from trees.

C. 50% of the paper\\'s content is recycled.

D. 100% of the paper\\'s content is recycled.

Correct Answer: A

QUESTION 6

What does sustainability as a corporate philosophy, value, and goal do for a company?
A. Earns the company a Green IT certificate

B. Energizes and inspires a company

C. Guarantees a positive end of year financial result

Correct Answer: B

QUESTION 7

What does sustainable development mean?

A. To create a balance between the demand for timber and the maintenance of the health and biodiversity of the forests
B. To make use of renewable energy in order to reduce greenhouse gas effects

C. To meet the needs of the present without compromising the ability of the future generations to meet their own needs

Correct Answer: C

QUESTION 8

For a computer to receive an Energy star certification, which element needs to meet the specified requirements?
A. Power density

B. Power management

C. Power source

Correct Answer: B



QUESTION 9

What is an acknowledged advantage of telecommuting?
A. It helps to reduce carbon emissions.

B. Remote meetings are more productive.

C. Work gets done more easily.

Correct Answer: A

QUESTION 10

An external Green IT consultant has analyzed your company and recommends replacing the PC\'s with thin clients.
Which advantage does the use of thin clients over PC\\'s contribute the most to an organization\\'s green IT goals?

A. Cost efficiency
B. Low power consumption
C. Workstation mobility

Correct Answer: B

QUESTION 11

Green IT has many obvious advantages but some of them are less tangible. What is an example of a less tangible but
real advantage of Green IT?

A. Cutting down on travel expenses
B. Enhanced employee attraction and retention
C. Reducing the costs of paper and ink.

Correct Answer: B

QUESTION 12

Your company chooses to privilege the environmental drivers while introducing Green IT.What is an example of an
environmental driver?

A. Reducing energy costs
B. Reducing equipment costs

C. Reducing e-waste



Correct Answer: C
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